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“Flnan01a1 Management 1s mor.e than p;ocarement of funds Discuss. ; - 7;
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X deposited ¥ 1,50,000 in a fixed deposit dccount at 8% p.a. compounded ‘Quarterly-

" for3 yeafé.‘ How much amount he will get on maturity ? o 5
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: Cash flows and tlme value of money are 1mportant in financial dec151ons Ccomment 5
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Hife |
X toork.an educational loan of ¥ 3,00,000 at 12% p.a. The loan is to be :repaid in |

five equal annual instalménts starting f~r.omwthe”end of the first year. Calculate the amouﬁt L

~of each equal annual instalment; T .5
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T _ A"company lS con_sidéring the replacement of an existing machine. It is faced with two
alternatives : - e o . o 15

(/)  To buy machine A which is similar to the existing machine. )
(i)  To buy machine B which is more eXpensive and has higher capacityQ ‘_

g The cash flows ‘after taxes (in '_lac of ) at the present l_évél cf operations are as follows : -

- -Year . Mécﬁine,A Machin§ B“_'
0 E _-_‘25; . 40
1. : _ | ' | 10
‘2‘ ._ 5. 14 ‘
3 | | io S ‘15
“ W oy
5 _ 14  | 15.

- Cost of capital is 10%. Calculate :

(@) Net Present Value

() Profitability index. )

. Advise the company about the':"better altematiyc.

Discount factors at 10% are 0.909,-' 0.826, IO.75-1 » 0.683, 0.621 fér’ the yeﬁs 1,2,3,4and »
. 3 ' . »

5 respectively.
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A company is considering the replacemént'of an existing inachine. It is faced with two alternatives ,
either to buy machine A which is similar to the existing machine or to buy machine B which

is more expensive and has higher capacity. - S - 15

The Earnings after taxes (in thousands of ¥) at'the present level of operations are as

" follows :

Year Machine A. Machine B
o '..—5(_) 80
1 ; _ 2
2 10 28
3 40 2
4 8 L 34
5 18 -  ‘ BT

Cost of capital.is 10%. Calculate :

(@) Net Present-Value

(b)) Profitability index.

'A'dvis_e the company about the better alternative.

Discount factors at 10% are 0.909, 0.826, 0.75'1,_'0.683, 0.621 for the years 1, 2, 3, 4 and V

5 respectively.
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. 3. (a) Distinguish between Operating Lev_efage and Financial ‘Lev’erage.vaw cah we

measure them, ? I o K N
From the foIlowing information, éalculate EBIT, Sales, Variable Cost and Fii_(ed

Cost | ‘ -' _ | : : : | .8

VC as % of Sales = 50%

Interest L 220000
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Drscuss any. f ive factors relevant in determmmg the capltal structure T 7
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'There_ are two corrtpanies X Ltd, and Y Ltd. Both the companies’ have earning of 25%
on their total assets worth T 20,00,000. Further, X Ltd. has debt of T I}0,0ll,'OOO" borrowed

at the rate of 12%; Both the cOmpanies are subject to 50%.tax-rate' and havi‘é capitali'zation

rate of 15%. Calculate the value of both the firms usmg NI and NOI approach 8
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. 'Brreﬂy explam the factors mﬂuencmg the dividend polrcy of the f' im, - " S 5
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(b) The eammgs of a company are ? 10 per share. The capitalization rate apphcable to<

the company is 10% If the company s return on mvestment is 15%, what is the optimum

payout ratio usmg Walter formula ? What is the share prlce at that payout ? ? What will

. be the share prrce at a payout of 20%, 50% and 80% usmg the Walter formula ? 10
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What is lstable dividend policy ? Explain itS'significahce ‘, - _ 7‘
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ABC Ltd. has a caprtal of T 20,00, 000 in equity shares of 4 100 each The current
market price of these shares is T 120 each. Thev company proposes to dec_lare_a dividend
of ¥ 10 per share atvthe end o_f current ﬁnarrcial.yea'r._ The ,capi'tali'zation rate for the
company’é risk class is 10%. Based on Modigliani-Miller approach, calculate the‘ market

price per share of the corrrpany if :

(/) dividend is declared

(i) dividend is not declared. | o .8
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. "CQmpute' the working capital requirements from the following details : -~ - .15
.Budgeted Sales 40,000 units per annum .
T
" Raw Material cost. per unit - ) , 9.
Direct Labour. per unit o o 7
‘Overhead per‘ unit - | ' o 3
» . . —“ ¢
o _ “Total cost per unit 19
- Profit perunit . - I 1
Sélling Price per unit = | RS T 20
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'. Additibnal Inférr;;atiqn : ‘ T |
- () Debtors are allowed 1 weeks credf%
‘(iz") - Suppliers providg: 4 weeks credit ‘
(ii;')' Raw materials‘wiljl' be carfied in stock fo'r_‘4, 'weeks.and' ﬁniéh;d goods for 2 Weeks
4 L R (i\.i), Factory prQCeséing will take on an a\;erage 4 weef.lgs.v
. Assume labour and overhead expenses to accrue evénly throughout tﬁe producnon cycle
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_ Write'shoi‘t'note_s‘ on the foilovfing :
' ;.(i)»: -ABC'_ana‘l:ysis‘o'f. inventory éon;crql | | o | . S ) | | 5
(i) Float.Ménéger'n’eht . ; o | . - | o ‘ 5

(iif) *Cash budget
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